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QUESTION 1

Your network supports multicast traffic but your provider network does not. You want to allow multicast hosts outside of
your network to receive multicast traffic sourced within your network. 

How would you satisfy this requirement? 

A. Use MSDP peering with your provider. 

B. Use AutoVPN to connect to the remote hosts. 

C. Use an MP-BGP session to your provider to pass multicast traffic. 

D. Use an automatic multicast tunnel gateway at the edge of your network. 

Correct Answer: D 

 

QUESTION 2

Which two statements is true regarding the next hop attribute? (Choose two.) 

A. it is not changed when sent across EBGP sessions 

B. it is changed to self for IBGP routes learned from EBGP 

C. it is not changed for IGBP routes learned from EBGP 

D. it is Changed by default when sent across EBGP sessions 

Correct Answer: CD 

 

QUESTION 3

In a Layer 2 environment where 802.1X is deployed with its default parameters on EX Series switches, which two
statements are correct? (Choose two.) 

A. RADIUS authentication requests are sent from the authenticator to the authentication server. 

B. DHCP traffic from supplicants is denied by default through the authenticator. 

C. RADIUS authentication requests are sent from the supplicant to the authentication server. 

D. DHCP traffic from supplicants is permitted by default through the authenticator. 

Correct Answer: AB 

 

QUESTION 4

Which three databases are used by the Dijkstra algorithm? (Choose three.) 
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A. Tree database 

B. Link State Database 

C. Candidate database 

D. MAC database 

E. Configuration database 

Correct Answer: ABC 

 

QUESTION 5

Click the Exhibit button. 

You are troubleshooting an OSPF adjacency issue between R1 and R2. What is the reason for the ExStart state shown
in the exhibit? 

A. R2 was elected as the designated router. 

B. R1 was elected as the backup designated router. 

C. R1 and R2 are using the same IP address. 

D. The MTU is not the default on R1 and R2. 

Correct Answer: C 
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